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	1 ВАРИАНТ
	2 ВАРИАНТ

	1.Вычислить.
      б)        в)   –7 – (– 4) + 3
г)             
	1.Вычислить.
             б)          в)   2– (– 6) – 8 
г)             

	2. Найдите                     а) 5,5% от числа 258
                                        б) 134% от числа 654
	2. Найдите                     а) 10,2% от числа 346
                                        б) 173% от числа 709

	3. Решить уравнение. 
а) 
б) 
в) 
	3. Решить уравнение. 
а) 
б) 
в) 

	4. Вычислить.
а)                б) 12,25:0,005          в) 23,4 3,65
	4. Вычислить.
а) 30,25:5                           б) 15,3:0,015        в) 67,2 0,98
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	5. Выполните действия:  



